%課題1.6.3
N=100;
n=(1:N)';
fs=5;
t=[0:1/fs:(N-1)/fs];                  %t=0:0.2:19.8
f=[0:fs/N:(N-1)*fs/N]';               %f=0:0.05:4.95
a=1;
m=60;
x=zeros(N,1);
x(m-30)=3*a;
x(m-20) = (-2)*a;
%x=3*delta*(t-30)-2*delta*(t-20);
X=fft(x)/N;
y=zeros(N,1);
y(20:60) = hann(41); 
                           %f=0(n=1),f=0.5(n=20),f=1.5(n=60),f=4.95(n=100)
Z=X.*y;
z=ifft(Z)*N;
subplot(2,3,1);
plot(t,x);
title('時系列データ');
xlabel('t/s');
legend('x');
subplot(2,3,4);
plot(f,real(X),'-',f,imag(X),':');
title('スペクトル');
xlabel('f/Hz');
legend('Re X','Im X');
subplot(2,3,5);
plot(f,y);
title('ハニング窓');
xlabel('f/Hz');
subplot(2,3,6);
plot(f,real(Z),'-',f,imag(Z),':');
title('掛け合わせたもの');
xlabel('ｆ/Hz');
legend('Re Z','Im Z');
subplot(2,3,3);
plot(t,real(z),'-',t,imag(z),':');
title('時系列データ');
xlabel('t/s');
legend('z');
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